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ED–2047 

B. Com. (Part III) EXAMINATION, 2021 

(Optional Group A—Finance Area) 

(Group—III) 

Paper First 

FINANCIAL MANAGEMENT 

Time : Three Hours 

Maximum Marks : 75 

Minimum Pass Marks : 25 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u 

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- fofŸk; izca/k dh ifjHkk”kk nhft, rFkk blds dk;ks± dks crkb;sA 

Define financial management and discuss its functions. 

vFkok 

(Or) 

fofŸk; fu;kstu D;k gS \ blds fofHkUu ?kVd D;k gS ftudk 

fofŸk; fu;kstu esa /;ku j[kuk pkfg, \ 
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What is financial planning ? What are various factors that 

a financial plan consider ? 

bdkbZ&2 

(UNIT—2) 

2- iw¡th ctV dh ifjHkk”kk nhft, blds {ks= ,oa egRo dh foospuk 

dhft,A 

Define capital budgeting and discuss its scope and 

importance. 

vFkok 

(Or) 

,d ifj;kstuk dh ykxr ` 1]00]000 gS vkSj mldk vo’ks”k 

ewY; ` 20]000 gSA kl o dj ls iwoZ bldh vk; izFke o kZ ls 

ysdj ik¡p o”kZ rd Øe’k% ` 20]000] ` 24]000] ` 28]000]  

` 32]000 rFkk ` 40]000 gSA dj dh nj 50% eku ys vkSj 

lh/kh js[kk i)fr ls kl dkVuk gSA ifj;kstuk dh ys[kkadu nj 

dh x.kuk dhft,A 

A project cost ` 1,00,000 and has scrap value of ` 20,000 

its stream of income before depreciation and taxes during 

the first year through five year is ` 20,000, ` 24,000,  

` 28,000, ` 32,000 and ` 40,000 Assume a 50% tax rate 

and depreciation on straight line basis calculate 

accounting rate for the project. 
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bdkbZ&3 

(UNIT—3) 

3- iw¡th dh ykxr dh ifjHkk”kk nhft,A lafpr vk; dh ykxr D;k 

gksrh gS \ uo fuxZfer lerk va’kksa dh ykxr dSls fu/kkZfjr dh 

tkrh gS \ 

Define cost of capital. What is the cost of retained ? How 

is the cost of new equity issues determined ? 

vFkok 

(Or) 

,Dl fy- us ,d u, mRikn ds fy, vuqeku yxk;k fd bldk 

le&foPNsn fcUnq 2]000 bdkbZ;k¡ gS] ;fn bdkb;ks dks ` 14 izfr 

bdkbZ ij cspk tkrk gSA ykxr ys[kk foHkkx us orZeku esa 

ifjorZu’khy ykxr dk vuqeku ` 9 izfr bdkbZ yxk;k gSA 

fcØh dh 2]500 bdkbZ;ksa vkSj 3]000 bdkbZ;ksa dh ek=k ds fy, 

ifjpkyu yhojst dh x.kuk dhft,A 2]500 bdkbZ;ksa vkSj 3]000 

bdkbZ;ksa ds fcØh dh ek=k ij ifjpkyu yhojst ls vkSj muesa 

vUrj ls vki D;k fu”d”kZ fudkyrs gS \ 

X Ltd. has estimated that for a new product its break-even 

point is 2,000 units. If the item is sold for ` 14 per unit the 

cost accounting department has currently identified 

variable cost of ` 9 per unit. Calculate operating leverage 

at sales volume of 2,500 units and 3000 units. What do 

you infer from the operating leverage at the sales volume 

of 2,500 units and 3,000 units and their difference if any ? 

bdkbZ&4 

(UNIT—4) 

4- iw¡th <k¡ps ds fofHkUu fl)kUr D;k gS \ la{ksi esa O;k[;k dhft,A 

iw¡th <k¡ps ds fu/kkZjd rRoksa dh Hkh O;k[;k dhft,A 
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What are the different theories of capital structure ? 

Explain in brief. Also explain their determinates. 

vFkok 

(Or) 

xksYMu fo;q fy- dh le va’k iw¡th dh ykxr 12% vkSj QeZ dk 

pkyw cktkj ewY; ` 10]00]000 ¼` 10 izfr va’k dh nj ls½ gSA 

izFke o”kZ ds var esa u;s fofu;ksx (I) vtZu (E) rFkk ykHkka’k 

(D) dk ewY; Øe’k% ` 3]40]000] ` 2]75]000 rFkk ` 2-50 izfr 

va’k ekurs gq, n’kkZb, fd ,e- ,e- ekU;rk ds vUrxZr ykHkka’k 

dk Hkqxrku QeZ ds ewY; dks izHkkfor ugha djrk gSA 

Golden View Ltd. has a cast of equity capital of 12% the 

current market value of the firm (v) is ` 10,00,000 (@ ` 

10 per share). Assume values for new investment (I) 

earning (E) and dividends (D) at the end of 1st year as ` 

3,40,000, ` 2,75,000 and ` 2.50 per share respectively 

show under M. M. assumptions the payment of D does 

not affect the value of the firm. 

bdkbZ&5 

(UNIT—5) 

5- dk;Z’khy iw¡th dh vo/kkj.kk dks Li”V dhft, vkSj blds izca/ku 

dh vko’;drk dk o.kZu dhft,A 

Explain the concept of Working capital and discuss the 

need for managing it. 

vFkok 

(Or) 

gkse fyfeVsM dsoy ,d gh oLrq ‘A’ cukus esa ,d gh lkexzh 

‘Y’ iz;qDr gksrh gSA ‘A’ dh izR;sd bdkbZ ds fuekZ.k esa ‘Y’ 

dh 12 bdkbZ;k¡ vko’;d gSA ;g ekurs gq, fd dEiuh izfro”kZ 

15000 bdkbZ;k¡ cukrh gS fd ‘A’ ds fy, ek¡x iwjs o”kZ iw.kZr% 
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fLFkj gS fd ‘Y’ ds fy, vkns’k nsus ij izR;sd ckj ` 200 

ykxr iM+rh gS rFkk fd izfro”kZ  dh j[kko ykxr ` 8 izfr 

bdkbZ gSA vki fuEu ds mŸkj nhft, % 

¼v½ ‘Y’ ds fy, vkfFkZd vkns’k ek=k fu/kkZfjr dhft,A 

¼c½ ml ek=k ij LdU/k dh dqy ykxr D;k gS \ 

¼l½ izfro”kZ fdruh ckj LdU/k ds fy, vkns’k fn;k tk,A 

Home Ltd. manufacture only one product ‘A’ The single 

raw material used in making ‘A’ is ‘Y’. For each unit of 

‘A’ manufactured 12 units of ‘Y’ are required. Assuming 

that the company manufactures 15000 units per annum 

that the demand for ‘A’ is perfectly steady throughout the 

year that it cost ` 200 each time order is placed for ‘Y’ 

and that earrying cost is ` 8 per unit of ‘Y’ per year. You 

are required to answer the following : 

(a) Determine the economic order quantity of ‘Y’. 

(b) What is total cost of inventory for the quantity ? 

(c) How many time per year would inventory be 

ordered ? 
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